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Discuss on the Progress Forecast of Projects based on Earned Value Method

MA Rong, XU Li, ZHAO Shuang
(Economic & Management School , Wuhan University , Wuhan 430072, China)

Abstract : By the theoretical study of Earned Value, the deficiency in the processforecast ispointed out based on Earned Value, namely to put
forward the limitationsof theimplicit assumptionin the' caseof EV Forecast”. Therefore, the corresponding mathematical model is established
in view of the process of projects under normal circumstances. The study in the paper provides an important reference for the cost control man-

agement on the use of EV method.
Key words: project management ; earned value; cost control ; linear assumption
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